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is a method of separation that employs a system with two phases of matter, including
a mobile and a stationary phase.
(A) Chromatography - (B) Distillation » (C) Homogenization - (D) Vaporization -
CBRFEE RN ES > AR AT BRI AR EARY > FR
(&T)g i om— fa-ka R ? (A)H0 0 (B) 0.01 M HCI > (C) 1.0 M HCI » (D) 15 % NaCl -
. T ¥ ¢ decaffeinated coffee » % %5 Rh vk » TR HEEBFF ?
(A) CH.Clp 52~ » (B) ATl it 5 B~ » (C)JFp 52~ » (D) B &2 -
CERERE Y T x?i&”“!r‘—i kP B E L0
(A)iF % - (B) &4 > (C)iFtirk > (D)3~ 2 447y o
CF - RIEAL o Z¥LE 782509 HEik-K £ 578259 FHEGEMEE 5 998259 Rk
B R L S 2 (B% ke A S 1.00 glom?)
(A) 0.62 g/cm® > (B) 0.92 g/cm® > (C) 1.34 g/lcm® > (D) 1.84 g/cm® -
. T At e 3 B B §oR <+ 3235 (Dalton’s atomic theory) v ?
(A)FFd 27 2 dlhh+ e (B)it ez hi2 B Fart 5 (O & A7
+ Al o P 7 RS (D) A ‘%E’T‘U,%l—*"’&)fflﬂ?- #ﬁg’rﬂ AT R o
AR E G190 RF £ 5 390 @ 4v R T J\ﬁ*gﬁ AREIF At S Kggs o 3 K
E S HE 50 2(A)18 5 (B) 195 (C) 21> (D) 22 -
LB WRIERF EERRES E LR T
(A)stix > (BYR+ k3z » (C)F %2 > (D) K »47:% -
10. S 4erdn w2 A3 6 p AR 54 k=% 0 A% 5 °Li(6.02amu)2 Li(7.02
amu) - BRALRF FRFE 5 6.94amu - 3FE OLi e p AR el gt F S e ?

(A)8% > (B)13% - (C) 87 % > (D) 92 % -
11.iv &4 A z 7 40.00 %#-6.67 % & * 53.33%3% -A 2 F % ;" (empirical formula) % °
(A) C1H101 ) (B) CleOl ’ (C) C1H202 ’ (D) C2H101 °
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12% 82 55 250mL ¢ » 53 02592 4TdpF » Pl 5¢ Ca' i ¥ B LR & %
(A)0.012M > (B)0.025M > (C)0.05M > (D) 0.25 M -

13k & 2M e ik — #5053 AL £ 24 R4cis IS 6L 53 345 RiE W 3M
e R R iR WEIEI BIRR ST IR H 7(A)05M>(B)1.0M>(C) 1.5M (D) 25 M-

14.% V45T 2|VR— JEKIA TR Y R fRR € g ?

(A) 0.020 M NH3 » (B) 0.02 M HCI » (C)% -k » (D) 0.20 M NaCl -

15,027 fe F eviiz i Hodg 128 % 7 (A) NaBr > (B) Nal - (C) NaOl - (D) NaClO, -

167 - S mbF oAl ET RY 2 Ak RS 005058/ > % 24§ 4T F
P FU B AL AR 02N R FIRY S LnE § RV eI ROGVE
Mg(OH),=58) (A)1.06 - (B) 0.87 » (C) 0.58 > (D) 0.29 -

17 K 8 e R B A 4095e § ¢ P 2 B2 R TR 0 RE AR Y KRR
7
(A) KoCrO7 2 fe iz i » (B) MN(NOs)p 2 e 127% i% > (C) CuSOq friFF Bkt 1273 i
(D) AgNOg3 s1g -k i% i o

18. 2 gt £ % 2 e LAY
(A)Bs>4f>3d - (B)3d>3p>3s: (C)2s>3s>4s > (D) 5s = 5p =5d -

19. Which one of the following contains both ionic and covalent bonds?

(A) NaCl » (B) NaOH - (C) HOH » (D) SiO;
20.7 F|wRiE &+ E 5 & < i e4E(dipole moment) ? (A) XeF, > (B) XeF,4 > (C) PFs » (D) SF4 ©
211k > 3 U A P BISERIT S0+ 0 i AW (paramagnetism) ?

(A)C2> (B)N2 > (C) Oz > (D) F -

22.7 7|4 £ 4 (complexes)® - vi- i 5 & i & 44~ (geometric isomer) ?

(A) [Co(NH3)e]Cl3 » (B) [Co(NH3)sCI]ICI » (C) K[Co(NH3)Cls] » (D)2 + % 2t e

23.3% 7% & /b (transition metal)dg=+ 73 -k ¥ > ¥ K5 gpd - T oKt e F 4R
(A & i+ v Lk > (B)%d 3 ¢ sfciad ek > (C)i & s+ s iev
% D)EA &£ pags ¢k x i g4

283 ERZTC 5 - BAMELINC WL 2L R r» F 0Lz § o
1A EREIR LT & 7(A)0.38L - (B)1.80L (C)221L > (D)4.42L -

257 G vRiB RV y IR 5 R 7

"

26.7F F|URIE (L & dr A B L ?

(A) CH3CH,CH;F » (B) CH3CH,CH;OH » (C) CH3CH(OH)CH; » (D) CH3CH>CHoNH; -
27.6A *%(Group 6A)~ % ¢ > vt = % § L g8 (semiconductor) ?

(A)Se ¥ Po> (B)Te Po> (C)S ¥ Se (D) Se £ Te -
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28.— #EF T At 7 1.00 kCal s & > ARt R kA £ 25°C 0 50 g vk o R RE E ®
=30 ?2(Gkz w4 =1.00cal/g'C) (A)15C - (B)20C » (C)35C - (D) 45C -

20.20CHF » MiFenZgE F RV RNZEFRE o d BB FF Ve L (A)e A EEF K
(B)e eny B 4 #ot okl o (C)2 As & B (v ¥ 4 55300k » (D)k e Bt & fis o

30. Distillation of mixtures of ethanol and water cannot increase the ethanol content of the mixture
above 95 % because this solution boils at a lower temperature than either pure ethanol or pure
water. The term which describes this lower boiling mixture is

(A) miscible » (B) isoniazid » (C) azeotrope - (D) epimerization -
Bl i ~ F M 0.15M ehg 4 > RIA3TCT » HBBERGLZ T AR E 7
(A) 0.45atm - (B) 0.9 atm » (C) 3.8 atm » (D) 7.6 atm -
32.% &34 2 SOyg) + Oy —> SOz + 44 kCal> . 25 CpFE T ffmo 10 T 7@ fa > ;2 > 7 & SO2(Q)
Sk RH A P (A RE ZE o B)RERE R (C)p B2 2 > (D)3 R SR -
BBHA -8B TAPETHEF> AT EFI AT Y H#Kb?
(A) A'ag) + H20() = HAGg) + OHtag) * (B) A'ag) + H3O'(ag) — HAGg) + H20q)
(C) HAg) + OH'ag) — H200) + Alag) * (D) HAGag) + H20() — H2A"(aq) + OH e
AT PRk VS - BEERRT
(A) HClag)®? HF(ag) » (B) HF ()2 NaF(ag) > (C) NaOHgq) % NH3(aq) (D) HClag)#2 NaCleg) °
35.4 0.5MpsAL% 0.5M fppcdn Hl i 2 % tm3 % 9 pH i 5 5 > 2 (pKa = 4.75)
(A) 13.5 > (B) 3.75 > (C) 4.75 » (D) 10.25 -
36.50 0k b o A * £5-60 1T 5 B R enBt R 0 45-60 R RS NPE v F RIS RS
720 T At e AR ?
(A3 e F[FF v @ > (B) R £ #i(mass number) 3 e > (C) ¥ 3 7T+ B 4 >
(D) ® + Fp > o
37.% — & & Ji(first -order reaction) = = 50%:HpF ¥ 7 & 100 ) > 3K o & e = = 87.5%p% » #1
Fenprm % 0 2 (A) 150 45 (B) 200 4 - (C) 250 #; > (D) 300 ; *
38.¢ 4w AQpSO4 273 2 B 4% ¥ Ksp 2. 0><105 -5 84 2. 0.020 M AgNO3 i3 iz &2 0.20 M
Na;SO4i% iR & » T 7| % i@ ? (A)3 AQSOs7adik2 = > (B)s NO» # #2824 = »
(C)7 SO, # #4 = > (D)%./uﬁxﬂﬁ%.%*gi I
39.&it F = 425 > Rate=k[A]"[B]" » Hipdem & n L7 7| P R ?
(A)d F 4z > (B)d i & (C) e (D)F % ©
40. R T 0 KA 4R MX B EER Aok ? o H R 2 R (solubility, y gh) ¥ H 3 i3 & A (Ksp, X
) (EH 0 LT A P B AT B L ?

(A) (B) (©) | D L '
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